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QUESTION 1

Which file on the internal flash of Avaya Virtual Services Platform 9000 is used to specify the primary and backup
release names? 

A. version.cfg 

B. releases.cfg 

C. boot.cfg 

D. config.cfg 

Correct Answer: D 

 

QUESTION 2

Which command mode contains the commands needed to work on software licenses? 

A. User Exec 

B. Global Configuration 

C. Software Configuration 

D. Privileged Exec 

Correct Answer: B 

 

QUESTION 3

Which statement describes how to configure Simple Loop Prevention protocol (SLPP) Rx? 

A. SLPP is configured on the edge switch ports that connect to the core switch cluster. 

B. SLPP is configured on the Inter Switch Trunk (IST) ports of the core switch cluster. 

C. SLPP is configured on the core switch cluster ports that connect to the edge switch. 

D. SLPP is configured on the uplink ports of both the core switch cluster and the edge switch. 

Correct Answer: B 

 

QUESTION 4

A company has a virtualized computing environment, and their VSP 9000 can be configured so that the ports are
considered "lossless" in their redundant network design. Which two traffic types are supported on a "lossless" port?
(Choose two.) 
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A. Multicast 

B. UDP traffic 

C. ISIS 

D. TCP traffic 

Correct Answer: CD 

 

QUESTION 5

A port on the Virtual Services Platform (VSP) 9000 is down because of a link_flap condition as shown in the following
output: 

VSP-9012:1#show interfaces gigabitEthernet state 10/8
================================================================ Port State
================================================================ PORT NUM ADMINSTATUS
PORTSTATE REASON DATE -------------------------------------------------------------------------------------------------- 10/8 up down
LINK-FLAP 10/28/10 00:22:50 

What is the most likely cause? 

A. The spanning tree protocol has detected a loop and placed the port in a blocked state. 

B. There is a physical problem, such as a cable problem. 

C. One side of the connection is configured for auto-negotiation and the other side is a fixed speed. 

D. The port is receiving a large number of destination unknown broadcast packets. 

Correct Answer: D 

 

QUESTION 6

A customer is mirroring multiple ports to a single monitor port. 

What happens if the mirrored traffic exceeds the bandwidth of the monitor port? 

A. The traffic will be buffered until there is available bandwidth. 

B. The excess traffic will be dropped randomly. 

C. The excess traffic will be dropped based upon the mirror priority of the ingress port. 

D. The excess traffic will be dropped based upon the port priority of the ingress port. 

Correct Answer: B 

 

QUESTION 7
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Refer to the exhibit. 

After checking the VLAN configuration using 

the show vlan info basic, and the show 

vlan info port commands, there are no ACTIVE MEMBER ports for VLAN-50. 

What is causing this problem? 

A. The ports have not been configured as active for this VLAN. 

B. AppleTalk Protocol VLANs do not have ACTIVE MEMBERS. 

C. The default setting for this type of VLAN is potential. 

D. There are no devices connected to these ports. 

Correct Answer: A 

 

QUESTION 8

What will the boot flag ftpd do to your system on startup? 

A. enable the FTP Server daemon 
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B. disable the FTP Server daemon 

C. allow the TFTP transfer of configs D. allow FTP traffic the highest DSCP 

Correct Answer: A 

 

QUESTION 9

Within an STP enabled ERS 8000 switch, what will the vlan create name type port command create? 

A. a port based VLAN 

B. an ACL for a VLAN 

C. a protocol based VLAN 

D. a named VLAN 

Correct Answer: A 

 

QUESTION 10

After issuing a show mlt ist stats (CLI) or show ist stat (ACLI) command, it is determined that the running type is normal
MLT and not IST. 

What are two causes of the IST not running properly? (Choose two.) 

A. The MLT ID does not match on both switches. 

B. The IST is not enabled on both switches. 

C. The peer IP addresses have to be 192.168.1.1/30 and 19 2.168.1.2/30. 

D. The peer IP address is not the address of the peer switch IST VLAN. 

Correct Answer: BD 

 

QUESTION 11

Once you have enabled the web server within the system for EDM access, what is the syntax to allow only secure
connections? 

A. web-server secure-only 

B. web-server ssh enable 

C. web-server secure enable 

D. web-server ssh session only 

Correct Answer: A 
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QUESTION 12

To confirm that RSMLT will work on a set of VLANs, which network design aspect should be considered? 

A. RSMLT is enabled on a SMLT VLAN. 

B. RSMLT is enabled on the VLAN group. 

C. Router 1 always owns the network. 

D. RSMLT is enabled on all SMLT VLANs. 

Correct Answer: A 

 

QUESTION 13

How do the Switch Fabric (SF) modules provide bandwidth management across the I/O modules? 

A. The bandwidth management is handled by the CP modules. 

B. SF modules in slots SF1 and SF4 provide bandwidth management across the I/O modules. 

C. Bandwidth management is shared across all installed SF modules. 

D. The SF module in slot SF1 provides bandwidth management for the I/O modules in slots 1-5, while the SF module in
slot SF4 provides bandwidth management for slots 6-10. 

E. The SF module in slot SF1 provides bandwidth management for even numbered slots (2,4,6,8,10), while the SF
module in slot SF4 provides bandwidth management for odd numbered I/O slots (1,3,5,7,9). 

Correct Answer: B 

 

QUESTION 14

Within the context of virtual routing, which statement about the term VRF Lite is true? 

A. The VRF router does not advertise, 

B. VRF will not calculate OSPF routes. 

C. Device does not support BGP4. 

D. Device does not use MPLS for VRF. 

Correct Answer: D 

 

QUESTION 15

A customer is concerned about the security of their network. They need to understand the OSPF authentication options
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when accepting route updates in OSPF. Currently, their Virtual Services Platform (VSP) 9000 is configured to require no
authentication when receiving the OSPF updates. 

Which two supported authentication types would provide security on the VSP 9000 for OSPF updates? (Choose two.) 

A. MD5 

B. 3DES 

C. RADIUS 

D. Simple Password 

Correct Answer: AD 
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